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Instructions :

* The figures in the margin indicate full marks.

» Answer eight questions, selecting three each [rom
Section—I and Seclion—II, and two rom Section—III.

* Candidates are required to give their answers in their
own words as far as practicable.

» All questions have been printed both in Hindi and
English. In case of any ambiguity in Hindi version,
the English version shall be considered authentic.

* Parts of the same question must be answered
together and must not be interposed between
answers to other guestions.
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SECTION—I
wrs—I

l), What were the causes of the Revolt of 185772
"  What effect did it have on Bihar?

1857 ¥ fize ¥ 70 w 97 fagn # I avE
T 917

38

}, Describe the spread of Western Education in
’ Bihar between 1858-1914, 38

1858-1914 F 2wM faen § ywary foan # womn
F1 U fifem ~

3. Write a note on Swami Sahajanand and the

.~~~ Kisan Sabha Movement.
= wegeH= IR FEE 89 J=eE v frogf
fafEu)

4. Explain the social and economic ideas of
Ram Manohar Lohia and Jayaprakash
Narayan.

W gAE drfedn s SEysm A0E % gt 3
Hifds famm i =ren ifso)

\S/Discuss the features of Pala art and
architecture and its relationship with

Buddhism.

WA FA a1 waq-Pmfm Fen 6 fwasd W
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6. Write short notes on any two of the
following : 19x2=38

(a) Dr Rajendra Prasad and the National
Movement

(b) Gandhiji's views on caste and religion

(c) The Dalit Movement in Bihar

frefafan & @ 4 5t w wfem foofirat fafan
(F) Sle Tz woR N WA F=reH

(@) =ifa sl o @ isfish % famm

(M) foem # = snem

SECTION—I]
| us—II

7. Discuss the pattern of global spread of
Covid-19 pandemic with reference to the
international migration and trade. 38

Faida wAra N A F g § fifyes)g
vl % affas gur F a0F ) wai A,

8. What are the variables of (he World
Happiness Report-2020? Give reagons why
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the Nordic countries are considered as the
top ranking countries in the world.

fava el RAe-2020 & favre Fa1 @7 FOT A
ﬁsaﬁ%«i%ﬁﬁﬁﬁ?aﬁvm—mﬂﬂﬁmaﬂm

Tl Bl

\yE-xamine the recent disasters like ‘Bushfire’
in Australia and ‘Amazon Burn'in Brazil with

their causes and impacts on local ecological
and global atmospheric conditions.

srfen ¥ S sm (9-%) dn_gniE &
e wTe e e S £ 7% T AN
Wqﬂ@:ﬁﬁmaﬁﬁaﬁmﬁwnamsﬁ gL INTE
afea wfa e |

_lpéplain the socio-economic and ecological
- implications of Covid-19 lockdown in India

with examples.
miifﬁz-wamﬂ%mnﬁﬁ—mﬁaﬁsm
ot ffeadl 9 e @@ Hig|

11, “With ‘Mission Shakti’, India becomes the
fopnh largest space power in the world.”
Discuss this statement.

;;mﬂﬁﬁ'%mmawaammw
8 T @1 T ) g@ HyA W =4l FEC
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SECTION—III
@ us—III

12. Given below is a pie diagram of population
pertaining to the year 1998 and the table
pertaining to sex and literacy-wise
population ratio of different States of India.
Read these carefully and give answers to the
questions that follow :

Data of different Statcs rcgardmg
population of States in the year 1998

/ TN |
Q% |

— e

Sex and Literacy-wise Po pul(mon Ratio |

States .= Sex i Literacy
 Male _ Female _Literate | Hiiterate
AP . 5 . 3 | 2 I 7 !
o owmp 3 ] l a
" Dehi 2 3 2 1 |
Goa 3 5 3 . 2
Blhar & - 8o .. & 1
CuP 3 2 ' 7 2 ‘:
x| 3 - i & |

Total populatlon of the given States = 32,76 000




(a) What will be the percentage of females
in UP, MP and Goa taken together of the

total population?

(b) What was the total number of illiterate
people in Bihar and UP?

(c) Find the ratio of the number of females
in Delhi and Tamil Nadu.

(d) What was the percentage of females

in all the mentioned States taken

together? 9+10+8+9=36

/dlggsﬁm#ﬁﬁawﬁmmﬁm
gw a3 fem o R F wof § Swen s
a9 @ T e o 8 Al s

ﬂ*ﬁﬁqmwﬁi%maﬁn:

w7 1998 # fafim =i @ Fwen e
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fem s faan & woi d Fa@m s
L fem ferain
Vi ] forfera sifafara

Ay w2 5 3 2 | % _|
wOT 92 3 | 1 R )
Gl 2 3 2 1 l
i T 3 5 3 2
 fm | 3 o I_J
IW T 3 2 7 2, |
| ATy 3 4 g I 4 ‘

fen 7 1wl R F wwE = 32,76,000

(F) I Wew, ueA w2 3N i # e i )
HE F Wfawd, F@ JAWE F fran 2me

(@) faem 3 37 w29 A @ A om sFme 47

(m) fegi sin afverrg A el A wen = e
F1 A

() wft et @ fre fa ) ogen @ sl
C1 IO

13. The following chart shows the production of
cars in thousands for different companies
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in India. Read the multiple bar diagram and

answer the questions given below :

Production of cars for 2002-05 penod from
the selected manufacturers

25 O 2002-03 ]
& 2003-04
20 | — @ 2004-05

Y _—

g
I

ITTIFTTITITITSTIN |

|

Honda GM Maruu HM  Hyundind

(@) Which companies have shown the
highest and the lowest percentage
increase and dccrease in production
over last year? Also give the actual

percentages.

What is the ratio of differences between
productions by Maruti and Honda
during 2003-04 and 2004-05?

(b)

What are the ratios of total production
of cars during the successive years?

(d) In 2005-06, the production of cars by
Maruti and Hindustan Motors was
doubled, while for all other companics
}he production remains the same. What
is the percentage increasc in overall
production? 8+10+10+8=36
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ﬁagga@aﬁla@ﬁiﬁmﬁﬁfﬁmﬁﬂ

@m%m(mi)ﬁmwhm

of 2002 & 2005 % # s 4 7

Fmfma #1 F 1 I
|
25 14 0 2002-03 |
@ 2003-04 \
20 : - @ 200405

15 |

10

(=) Fm wlE B e 3 fgd @l A gern 3
s 3 =pad v A gfa 3w @ E
%7 arefas wfara 1 Iga i Fif)

(@) umdl si @s % 2003-04 3R 2004-05 a4
S eyl F Al F| YR #0ORY
() maﬂﬁwﬂ%zamm?%rﬂgmmg?

(1) a8 2005-06 & wrEdl  fegrart el ) #R))
& T FE 8 safs aifs Fgfal
qeqre safiafda W11 g I A el wfm

# fe &
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th
14. Study the following graphs and answer the

questions given below :

Production (lakh bales)
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what was the percentage increase in
cotton p.-oduction and productivity in
2006-07 as compared to 2005-06?

(a)

(b) In how many hectares, the cotton was
grown in 2009-10 and 2010-11?

fc) In which year, the cotton production
has shown maximum percentage
decrease as compared to last year?

(d) In which year, the cotton has shown
maximum percentage increase in
productivity as compared to last year?

(e) In which year cotton cultivation area
was the lowest and how much
percentage of maximum area?

() Assuming cotton price as € 1,250 per
quintal, what would have been the
income of a farmer who had S hectares
of cotton area in 2008-09? 6x6=36
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(%) 2005-06 F T # 2006-07 # um
mmmﬂﬁaﬁmﬁ.ﬂg

oft?

(@) 2009-10 *M 2010-11 # f&a w3
Furg @ T8 47

(m) frm ad A fied @ f o F T F gw
Iqred § srfusay wfawma f w4 gd7

(@) fFa =d A fime ad A g@n 4 FO” H
IEEa 3 AftEwas wfawm 1 aga g8/

() fra od 4 =98 ¥ I F1 G AOH 9
ain 7e “AfRay &awe #1 B afawa a7

(1) Ff2 Far@ %1 wE € 1,250 wfd et @, @1 @&
5 twRw oW W T fFem @ osm
2008-09 A @& #i?

15. Study the following line graph which gives
the number of students who joined and left
the school in the beginning of the year for six
years from 1996 to 2001. Initial strength of
the school in 1995 was 3000. Answer the
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questions based on the line graph given
below :

700
600 :
= 4
2 7
§ 500 4 =
'g e N . ¢ v
% 400 - Ry A =
= S
§ 30 : T
£ 200 ha
=
100
0
1996 1997 1998 1999 2000 2001
Years wesZeee Left
—&— Jouned

fa) The number of students studying in the
school in 1998 was what percent of

the number of students studying in the
school in 2001?

(b) Find the ratio of the least number of
students who joined the school to the
maximum number of students who left
the school in any of the years during the

given period.

() During which year, the percentage
increase in the strength of school was
minimum?
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(d) What was the percent increase/
decrease in the number of students
from 1998 to 19997

fe) Find the ratio of the maximum number
of students who joined the school to the
minimum number of students who left
in any of the years.

() In which year, the strength of the school
was maximum? 6x6=36

/Aﬁ@mmmmﬁmm 1996 @
2001 #@ F Wy A fqaa § 59 o5 9 3ied e
faenfedai ) gen A w21 1995 F Ry F e
F1 "EE 3000 9| AT Uk FosuR w1 Efatae
mﬁamz’tﬁm:

faenfiéal #) wey

1997 1998 1999 2000 2001
o eeae N WA
—a— YN FA A
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(F) 1998  famwm # vgd A faenfdat A wen,
2001 # gt a Pl # w@n #1 fr

yftrra ofl?

(@) & arafu F e f off = 7 A Hen
Y o Tt iR Aftman e | e gig
At feenflel w1 sy = R7

(n) fem =d ¥ fraem § el £ wen 4 g
3 =g A’

(7) 1998 & 1999 # fenfd=i #f g & wiwm
gfe/frrae 7 24t

(z) foedt ft @ & sz den 1§ v ol a AN
FAan W@ ¥ famen ged I i @
T w1 27 o

() o i foarer 4 foanfifdl 1 W ST
7
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